
LE

Mont.p. nr. 27

NORLEG

04.11.2005 C: 03.11.2015REV.

-

Parts list

POS PARTS NO NAME/DIMENSION

1   LE 15050

  Climbing stone

2   LE 16081   M10X30 mm A2 ISO 7380

3   LE 16083   M10X35 mm A2 ISO 7380

4   LE 16084   M10X40 mm A2 ISO 7380

5   LE 16074   M10X45 mm A2 ISO 7380

6   LE 16082   M10X50 mm A2 ISO 7380

7   LE 16041   M10 A2 WS 9312

8   LE 16177   4X25 mm DIN 9135

9   LE 16191   4X30 mm DIN 9135

10   LE 16311   4X35 mm DIN 9135

This drawing is the property of NORLEG and pursuant to current

legislation may not be copied, transferred to or used by any third party.

Should this drawing be used, a fee of 10% of the assumed

contract price will be charged.


